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VIOLATION 2698/92-11-01, SEVFRITY LEVEL IV

Technicel Specification 6.4.] requires that the station be operated
in acvcordince witihh approved procedures.

Operating Procedure OP/1/A/1102/01, Unit Startun, regquires that
React.vity Balance Procedure, PT/1/A/1102/15, be used Lo calculate
Estimated Critical Position (ECP) and Estimated Boron Concentration
(FCR) prior to geing rritical.

Contrary tc the apove, the station wa: not ofp:rated in accordance
with OP/1/A/1102/01 in tbat the Unit 2 Reactivity Balance
Procedure, PIT/2/A/1105/15 was used aon several occasions on May 11
to calculate the Unit 1 ECP and ECBE.

RESFUNSE:

X The reason for the violation, or, if contested, the Hasis for
disputing the violation:

The reactivity curves for both Unita 1 and 2 wer: located in
simllar notebooks in a common bookshelt. Each notebook also
contained the Contrcl Copy of the procedure and working
copies. (Generally, the Control Copy ot Opere*ing Procedures
and Periowic Tests specific o 2 unit are cvontained in color
coded folders and filed in separate cab.nets.) The Unit
Supervisnr inadvertently pulled the notebook for Unit 2
insteal of the notebook for Unit 1. He performed the
Estimated Critical Boeron (ECR) calculetior 8ing the curves
and procedure for Uni* 2. The calculaitions were repested for
verification by the Shift Manager, using .he same piocedure
and carves.

When it was determined that criticality would not be reacrad
during the calcuiated time period, the ECB calculation was
ropeated by the Unit Superviesvr and verified by ‘he Shift
Manager. Unit 2 ~urves and procedures were used again.

The Estimated Critical Rod Pusition (FCP?) was calculated by
the Unit Superviscr and cevified by the Shift Munager, using
the Unit 2 curves and proceduve.

fhe procedurs vas turned over to the evening shift, where
power egcalation was coatinued to 62%. WNearing the end of the
avening shift, the Unit Supexvisor reviesed the completad
procadures from Fis  #hift and discovered that Unit 2
enclosures ware used to perforn ECB and ECP calculations ou
Unit 1,
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